PERIPT M2 E P SRS R YRR

%3

4

Sl R

] 30 & R BE

KA EOF R ’;F:_}’.;J._%
O3 AL (5 FHAIEATAS § % FRTA B G35 1 T ARIL e 3T A -
(Ji‘x;}ipxﬁ.%?" e &;ﬂvé—\},f@,ggj\@@iﬁgo

% °
j_

— R EREFERIT R ET LR AW ELEA U 32 1
Oll N +3|| N +2|| N _2" ‘z-é‘;‘L ll'L /PIJ :‘,\' %7\ v ;ﬁ_%:_; T i::“,gﬁ‘;; ° (20 Aa\ )

SRS REN T R R (BAINCE)EE I AT ER(R
FEHIR AR ) (20 4)
3X—-2y—-2=22
—2X+6y+3z=-45
-X+3y+5z=-26

SEPIEZ 7L RIE

S BBETEFRRRB AL ZEETZ g
2 o—ﬁ;fiﬁv?;’fz‘zﬁﬁf?;éﬁé?p

Ll
T X p ez - E-"r’q,\}i AR R 5 F¥‘7}—
SRR L BT A S S8 (20 A)

APl GEcE TS BRESRSETOREAMAR XSRS E XYy 29

4 -1 3
2> —f@gredi Y=[-1 9 -4
3 -4 16

R Gdkp, - pop, c(GPEI L EEEF 312) (204 )
_ﬂ\ LR /E1_§ };{;\:‘ s 3 ,j_rq:\‘,é:.Pm/I/*_'_ #\frﬁﬁﬁ:’ E:'F’)( [Xl Yl]T,.I%:_%é

=% 6:=3.0cm? >

0.25 0.15
'Jxmf"" Fl#cEL S Qxx |:015 075:| 2 H

W B PR B R A ek A 2 (20 4)



